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In the diagram, O is the centre of the circle, AD = BD
and ZABD = 58°. Find

(a) £ZBAD,

(b) ZBDC,

(c) 4£BAC.

In the diagram, O is the centre of the circle, and AD and
CE are diameters of the circle. BA // CE, AD and BE
intersect at F and ZAOE = 50°. Find

{a) ZABE,

(b) ZBAD,

(¢) ZAFE,

(d) ZADB.

In the diagram, AB is a diameter of the circle, AT is the
tangent to the circle at A and LACD = 20°. Find

(a) ZBAD,

(b) £TAD.

In the diagram, O is the centre of the circle, AOBC and
CDE are straight lines, ZOCD = 26° and ZODE = 54°
Find

(a) ZCOD,

(b) LAED,

(¢) ZOAE.

In the diagram, ABE, ADF, BCF and DCE are straight
lines, ZAED = 34° and ZAFB = 32°. Find

(a) ZBAD, '

(b) ZADC.




